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. COMPUTER SCIENCE
COMPUTER APPLICATION
INFORMATION TECHNOLOGY -
(Honours Generic /Regular Core)

For Honours Generic
Answer the Questions from any one Option.
'OPTION - A ' '
( Programming in C4-+)
Paper : CSC-HG-2016
- OPTION-B -

( Database Management System)
Paper : CSC-RC-2016 / CSC-HG-2026
bt OPTION-C | __

( Introduction to Programming in C)
Paper : CSC-HG-2036 / TCA-HG / RC-2016 / TIT-RC-2016
Full Marks : 60
Time : Three hourjsl

The figures in the margin indicate
full marks for the questions.

Answer either in English or in Assamese.
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Answer the followmg questlons ;

OPTION - A
( Programming in C++)

‘Paper . CSC-HG-2016

Oe XIEEHE Ted fm

(@)

(b}

(

State True or False :
C++ supports multiple inheritence.

ey 7 Ger el ¢
C++ W@ multiple inheritence 32 %4 |

1s a user defined type that

contain data memb(‘rs and mcmber

functions.

(Bl user defined type i data
members & member functlons (SIE G
4 [

State True or False :
In ‘C+ty
pointer to a memory location.
7] (o S forll &

C++ ', reference variable (51 memory
location =1 9Bl pointer ¥ JEi3 |
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Ix7=7

a reference variable is a

(@

(9)
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State True or False

In C++, ++ operator can only be used

in integer and floating pointer number.

%] (A &7y T

C++ ', ++ operator (b SI5& integer W%

 floating point YN CFI© I F91 T |

What is L-value and R-value of an
expression ? ‘

95l expression L-vaIue € R-value

WA e

- What is the use of constructor in C++?

C++ © constructor ¥ ?ﬂw &2

State True or False :

In function overloading same function
name can be used

functions, if parameter are different.

in multiple

ey ¢ eerey Tl g

. Function overloading © &t®b6! function

name (& (33451 € function © B R
Tw pararne_tef- (@9 (et ([@e) 2|
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2. Answer the following questions : 2x4=8
o I T i ¢

(@) What is the difference between a class
and an object in C++7?

5l class W% 9B object T WEE Ly e

(b) What is the use ‘'of new and delete

~ operators ?

‘new’ 9% ‘delete’ operator I IR e -

(c) What is variable ? Define the scope of

a variable.
Variable it {& i@ ? Variable 9 scope ¥
- R fﬁ?ﬁl

(d) What is inline function ?
Inline function W= & 3o

3. Answer any three questlons from the
following : = 5x3=15

o1 [ ol ek Tt fml

(a) ‘Write the difference between call by
Value and call by reference.

call by value Wi call by reference 31’..

e AL G4l

3 [Sem-2/CBCS| CSC HG 1/2/3,RC/G 4

(b)

(c)

(d)

(e)

Explaln the concept of static and
dynamlc memory allocation in C++.
Static Sl dynamlc memory allocatlon

q GO 9o /10 |

What is the difference between
function. prototype and function

definition in C++?  Explain with

suitable example.

C++ © function prototype ®% function

definition-¥ &= _mafm%i‘ o THEIIHT
S R R

What is friend function ? Write a C++
program to demonstrate the use of

friend function in a class.

Friend function ¥ & @i? Friend
function9 IFIT @A GBI C++ I
program 4 |

What is polymorphism in C++?
Explain different types of
polymorphlsm mn Ct:

- Polymorphism it & ’{\Bﬁ? C++ 1 ffen

polymorphism 23 I 4 |
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Answer any three questions from the

following :

10x3=30

_—mmfﬁﬁmwm

(a} What is the difference between a

(b)

()

(d)

conistant pointer
constant dn. GChikp
suitable exarnple

Explain with

C++ S G5 constant pomter ¥ pointer

to constant-g MG Ai<fEIe! 57 © Wﬁ‘iﬂi :

SR @'ﬁi

‘What is filestream in C++ ? Explain

different types of filestream. Write a
C++ program to read data from a file.

C++ © filestream Wit & el 2 [fow ggem.

filestream &9 391 41| @bl file-7 data
RR read $99 AR C++ © é]ﬁ program
fora |

Write a C++ ' program to display the

factorial of a number using recursion.

Recursion 929 S€ 6! AT factorial
- Ot C++ © bl program vl

What is inheritence? Explain about

different types of mherttence with
suitable exarnple

3 (Sem-2/CBCS) CSC HG 1/2/3, RC[G 6

and pointer to

(e)
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array of structure.

Inheritence ¥t = ﬂf\ﬁT?- Rifen $9=S

- inheritence 4% WW WUT 9|

What are structure and union ? Write
a C+t program to show the use of
What is the
difference between break and continue

statement ?

Structure 9% union M & & ? Array

of structure (7YARTE C++ © €6l program

i1 Break W% continue statement-3 -
Aol v

Create a class called ‘Tectangle’, which
has three length’,
‘breadth’ and ‘area’ of the rectangle.
Write a p'-ubl_ic member function getData
() to take the initial values of length’
and ‘breadth’. Another public member
function getArea () will calculate the
area of the rectangle and display () will
display all the information. Note that
afeél is calculated as length = breadth.

data members

Contd,




‘rectangle’ NS @bl class IR, IO |
‘len_gth’, ‘breadth’ ®Ii< ‘area’ W TH0! |
'data member | getData () <" @Bl
public member function f&2! f dength’

i% ‘breadth’< value '{31 input 35:1@[

| getArea () <99 @of public member |

function o1l I rectangle (BIF area

Gt Frsld @@ i display () NS ¢G5 |

public member function i R
e information display S|

G 2 area et T TEAG T
length = breadth |’
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OPTION-B

( Database Management System)
Paper : CSC-RC~-2016 / CSC-HG-2026

1. Fill in the blanks : =

T SR AT

(a) RDBMS stands for
RDBMS-4  efefifie 3@

() COUNT is a _____ function in SQL.
SOL-9 COUNT i function.

e e defines ' the property of an
ey, .

o entity "B (a1 define T |

(d) DML stands for
DML-q _ =fffeg 3@

(e) : operétor is used for select
operations in relational algebra. '

Relational algebra—< operator

(5l select WW‘TWW@E
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() The identifies individual tuples
' uniquely. ' :

g 42F tuple @R G Baresed
TR

{g) The basic data retriet}al statement in
SQL is

TSt SFEFR A SOL © 92N @R el
SN T i
Define the following terms : 2¥4=8
Wt IR el ford g ' '

- {a) Candidate key' and Super key

(b} Simple attribute and Composite _.

attribute

(c) Data independence

(d) Entity integrity and Referential

integrity.

' Answer any threeque‘:-Stions : 5x3=15
frreicat fofnt ?ma ey Tl ¢

(@) What is relational algebrd’? Explain
_any two - operations of relational
algebra. :

. Answer any three of the following :

Relational algeb;ra.ﬁ?? 39 [P 7ol
el ) 4| |

(b) Briefly explain the characteristics  of
DBMS.

DBMS- TaRBRRE 530F W 9|

(c) Briefly explain the three DDL
commands with examples in SQL.

Tz (e SQL-A f&f6t DDL command
B N1 B |

(d) Briefly explain the DBMS architecture.

' DBMS-9 architecture 5503 il 41|

(e) How to convert ER diagram into
relational table ? Give the rules.

ER-diagram-4 79l (S relational
table (51 e 4l 272 Wasicot forall |

10x3'303'

(a) Explain the advantages and
disadvantages of DBMS. Gto=10

DBMS-A Rl 1% SHRAIEE i |
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(b) Con31der the relatmnal schema and

write SQL statements to perform the
following tasks : 2+2+2+2+2=10
964 relation schema Gl @ o Fowre
TS A SQL ©fe forail ¢

WORKER (WORKER_ID, NAME,

SALARY, JOINING DATE,
. DEPARTMENT)

(i) Display worker ID and joining
date of Admin Department.

Admin - Department-§ worker ID
SRS joining date @n¥q T4 |
(11) Display records in ascending
: order of salary.

VR AT TG (GG AvElq 4 |

(uy) Display records having salary in
- the range 5000 to 9000.

5000- #R/ 9000 WW S
@wmw|

(iv) Display the record of persons
whose name ends with ‘@’

S| D= e e A TG A wwmm

@Wﬁwﬁw+ :
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(d)

(v) Display the: record = of persons
' whose name start with ‘S”.

T ST e S @Rl WfeEeE

(@FC o 9 |
Write short notes on the following :
frme [z vy R W@ e
(i) Pmmary key
[u) Forelgn key
"Consider the following relational
‘schema : 2+2+2+2+2=10

we relational schema (BI (74 ¢ _
EMPLOY‘EE ~(Eiie,” Ename,  ‘Salary;
b DOB, Dnum)-
DEPARTMENT (Dnum, Dname, Mgrno)
Write SQL
following : = .
fise weeE i SQL BfE fra ¢
(i) Display names and date of birth
of managers of all departments.
el -departinent@l’ (eSS S0
S & Sifee el 59|

statements for , the
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(i) Display .the names . of all
employees with salary < 9000.
9000 W& TN TR (oNE R
TGN T A 4

(iii) Display the names of employees
working in each department.

095 department © FN T IYY
FAGIT ARG A 7 |

(iv) Increase salary of every
employee by 10% .
T O =R 10% i 4|
(v). DiSplay- details of all .employeeé
~ who born after 01.01.2000.

+01.01.2000 1 fres Traete 41 RECeT
i Rt e

e) - Explain the 1NF, 2NF, 3NF and BCNF
with examples in RDBMS.
' 2+2+2+2+2=10

Tniza9s (It RDBMS- 1INF, 2NF, 3NF

W€ BCNF T0=ifl <541
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() Explai'ri' different types of functional
dependencies with proper examples.
Ty Tmizmd OWS functional
dependencies= Rfen gz i 91|
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OPTION -C (c) Assignment operators have higher

. ! ‘ dence than arithmetic operators.
oo Pt - : : prece D

( Introductuon o Programming in C) (Sta D true or false)

Paper : CSC-HG-2:036 / TCA-HG / RC-2016 / TIT-RC-2016 e e

arithmetic operator ©(s (@f2|

1. Answer . 'the follovﬁn ‘questio '
| g, g ns as (7 @ w15 [e)

directed : . O dx7=7

werw fral W Ot Tee {12 (d) statemeﬁt is used to terminate
e loop. . - (Fill in the blank)
) Which of the foll lid ‘ : :
b identifier ? : e (_a o @bl loop ¥ TR statement
TR 9 2 | NE il o 79
R (BT (A4 SRR . e
s (e) Static variables are initialized only
i) .- Skatic. once. : (State true or false)
(i) For Static variable (AF® G ﬁﬁ@?ﬁ S
‘ - | | (% 7 T 7))

(iii) Imteger ‘
: (f) Two pointers cannot be multiplied.
(State true or fdlse)

ol pomter ofze SR @RIR
(5% (7 q8% [73)

(i) Void

(Choose the correct option)

(% Reach! 96 SRem)

(b) Length( ) is a library function.
; (State true or false)

() g function is used to move or
change the position of the file pointer
to a specified offset. (Fill in the blank)

File pointer-3 SREH Wi fRace
function IR T A (4eT] N2 279 F)

: Length( ) <5 hbrary functlon :
(%% (7 o5 f&4)
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o

: Define the following terms : 2x4=8

el frats
(a) Reserved word

(b) Null statement

(c) Scope of variable

(d) Array

‘Answer any fhree. of the following
questions : : £ 5x3=15
e oAby epiq Tea & ¢

(a) -Explain different primitive data types
available in C. :

e language-“ﬂ' 2Ne¥F data type QIR 7]
fuzrl |

(b} Differentiate between :
AN {5721 8

(i) Lvalue and Rvalue’
(i) Break and Continue

f¢) What is storage class? List the

features of different storage classes.
Storage class @2 Rf®® storage class-=

‘mﬂwma
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(d) Differentiate between function call by

value and call by reference with
suitable example.

Function call by value W% call by
reference NYFAR BARIEE LS B |

(e) Write a function to return the HCF .of
two positive integers.

WO 4 ﬂq‘ﬂ\wﬁa HCF Cfmidta @bt Higse
Tt |

Answer any three of the following

(uestions : 10x3=30

ficrrcan fofast emia Tea ol 5

(a) Briefly explain the followmg 11brary
functions :

wete WAl library function @RS 53 ﬁ‘ﬁT
faztt |
() pow()
(i) sqrt()
(iti) abs()
(iv) fclosé:( )
(v) fseek( )

(b) What is recursion and how does it
work ? Write a recursive function  to

compute the factorial of a number.
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(é)

(d)

(e

Recursion & =1i% @Tﬁﬂ?@ﬁﬂﬁ FE2 9GOl

FR2E factorial @%ﬂﬁ?ﬂ Gin recurswe )

FIHe ol |

Write a prograin to find roots of a
quadratic equation. ‘

451 fagie AN JEER SRR <O (ials

_ﬁ‘f’«’ﬁ!

Write a program to merge two sorted
arrays. ;

wol sorted array GF[E ?ﬁﬁﬁ?ﬁ u‘lﬁ C&T@Tﬂ ey

f?wﬂ

Write a program to mu1t1p1y two

matrices.
YOI matrix 29 FRACA GO catT B

erte Short notes (013 h

5y (I el 8

(i) Relational and logical operators

(ii) Structure
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